T s R ] Design for GALAX GeForce RTX 3090 HOF series

Please tear off the protective film on the mirror plate. EE 14:

Bitspower’ [

— ~ (1) BP-VG3090GXH 14
(14120 £ HR@ H 030 4 KODRGBIT - A . T, T A, @ Lomm Wity 5
Digital RGB PIN on @ motherboard or @other equipment. © © @ 2.5 mm BRER 1k
%1% @ 3 @ {118 % HODRGBIHE - “ 1 @ 2.0mmEHBE 2K
o (2 = / % BR 1A
NS M2.5 x 8 #4 16 %
i‘| % ‘ 2 @ M3.0x 884 2%
I 4 7 1. M2.58 118
Heb . @ M25x6mH 1%
/ ) 3 Bt 1k
motherboard  DRGB Mult unction ControllerNot ncluced) Accessories
L DRGBIZH28(FE1E) ) 7 @ BP_VG3090GXH LpCs
I/Iglzﬁ;ﬁ?z @ 1.0 mm Thermal pad 5PCS
R @ @ 2.5 mm Thermal pad 1PCS
(Notincluded) @ 2.0 mm Thermal pad 2 PCS
@ Back plate 1PCS
(®) M2.5x8screw 16 PCS
?_@ @ M3.0 x 8 screw 2 PCS
M2.5 Nut 1PCS
@ M2.5 x 6 screw 1PCS
Washer 1PCS
@ o
! (1) BP-VG3090GXH 14
@ 1L.O0mm SR 5h
@ 25 mm SHRBR 1k
(@ 2.0mm SzA 2R
B ik 1hR
(® M25x8i8L 16 %
BUATR T EREBRRABE - 0T - SRLEIEEL - @ M3.0x88#% 2%
alaton guide o real e waterbock, ack pse with you oraphes ard M2.555 1
B IR F A REFRBRBS - D25k - BRRRIEL - @ M2.5 x 68R22 1%
13 1K

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

ARTREBHERMR T BRURBRENRD) - WAREBABITEN - EREBCHREGUEYRE -
& ARTYREN = mANR U BRURBRENRT - WAENSABITEMN - =R eSEFUSEYE -



Bitspower®

[ °

)

o I o
D

0

]

o

GALAX GeForce RTX 3090 HOF series

HYIEREN R E

Iﬂﬂ]ﬂl

dn

,?"f\ B’JIEEEE?FH ﬁi% Applying the thermal pad and thermal paste on correct positions.
EZ] Using appropriate amount of thermal paste.

[] 1.0 mmEzzk [] 1.0 mm Thermal pad
[] 2.0 mm Thermal pad

[ 20 mmEszks
[] 25 mmEzszk [] 2.5 mm Thermal pad
5 Before filling in the water, please make sure all the components are installed correctly.
R - BKED - AAWRFASHEREEERIVIE | - ERMEN - BRATRRET - E R BUKED  BAARASHEREEERNOME E  ERFEN  SFKROERT .
AiR To prevent any leakage which may damage the PC components, please perform a A ik SRR RN - i AT S SR AR

L"_‘Z‘4 BSRYBRKAIE - FEREIRKIE L - B ERKMENERSHAIER - ] g
PR (L) e R 24-hour leaking test with only the pump connected to the power supply .

B
i

it
I

BEERTH

figt
I

it




Bitspower’

% : BitspowerZZ HEEEAZAMK - @3 K - MABitspowerfIREERKLRER ; MEFBTEBNKLIRERERERE - KEEE kKRB
A FALER - KEERRAZHEZENBRKERECAURNZEER - HEZRTARHEEERTR -
RAEKE - BAMEKRER -
Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
A consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation

leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.
Do not turn on the pump if the reservoir is empty.

: Bitspower BUCGHTREERZMEK « 42K - MABitspowerfRFEAKLRER ; MEFBTEBMNKLSRSRBEREHE - KEEE - KRE
HALER - KEERHABHETRUBRKEREEATRNZOEN - HREBTEHEERTREE -
AEKE - BIBHKRER -

et

TE  EEENRERNKER SRenTENBASRERBE BANENELERIE0.5kg/m2 (Bar), NEENBALRERBE, BHEFHTE
/\ EBREEFEAREKRARRRNER P ETREREN -

Notice:When using leak tester on water cooling loop, in order to avoid product damage due to excessive pressure, the input pressure should not

A exceed 0.5kg/cm2 (Bar). If the product is damaged due to excessive pressure, it will be borne by the customer. Forbidden to use the leak
teser when there is water in the loop or the pump is runing.

T 4EANSERNTKEN, B EETENSASRER R BANENEREET0.5kg/cm2 (Ban MEENEAER=RRE, BHEPBETE
/\ BEZEPEKBEKRKRFENER ETSEREN -

AR MKA - BAEERASUHCEREEERNUEL - EAREH - BRKRNBERT - ET24NSHIKIE - BRERKENEEHIN  BRRERKMENEMIMIEER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR BKET - BEWATASHCZREERNUE L - EAFEN - SFKROBERT - #7240 NHKIE - BRERKEREEHEN - B RKERKNSREMBEIRL -

FATREBHERNRTEURERENES - NEFHRASTEN - ERBRCHARAUBYRE - VZ/% _ H&
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product. -
KRATYRENFRmIRITEURERNNS) - MEEHBASITEN - FRAeSkAUTIE -



